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Sflaenrsst : (1) DTS aTTSHSEHL0 gRlwrs’ udeurd o GTaTHT 6TeuLIS e 6

siuTi&ss Qardraran. oFsiLSeild GopullBLdearn, D
sastasiluraTiD o L anguirss Ggfelsseab.

2) Beob SioeF SHUY mowlear WLEGWL  TWFHuSsHESD
=i 5CaT HausHED LaTLRSES GeuanBHLd. UL BISET aueFeusn (@
Quenéled LWETLIHSSELD. :

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

@mloy :
Note :

@iy

Note :

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Gasemeuwrar QLSS0 LLLD auemThIl FLOGTUT(HEGEMET 6T(LPSELD.

Draw diagrams and write equations wherever necessary.

L@ - I/PART -1

() Semensg 6aTEs@heHEL0 ellenLweflEseyb. 15x1=15

(ii) \Qarr@ésasuut_@ehm orpn e seafld Weaw oW
AeoLaws Coibos0s5s GO HLear elmwiamanbd GCargs)
T(PHALD. |

()  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.

FaDO) : SETHIA &SI [DETAT Senansg) SelLoms(@heT afedlwid ifl&

S sualuisgn @ppme widman QUDDIETETS.
SNIEILD : san® 9 ss0ULHeter iearsgl saflomis@EpeT afefluid <igls
erevsL_grar BriL wHinfemar QuDYETATS!.

(=) Sadm) LHmD SMTeRTD GTaT(HD Seuprarg).

(<) Sapml wHmb smewTd S Qrar@n sflwurarma, GgID SMTEwILONEE
gapmimsnes sflurar 6leTéEsn <A @GLD.

() s=pmI wHmID SMyewTd S @ram@id sRlrareney, L,emmed STFEsTLONEEIS)
gapinstes sfurar efleTésh Dlee.

(FF) Sapm sNwTeng) e SNTESID SaUDTag|.

Assertion : Helium has the highest value of ionisation energy among all the
elements known.
Reason : Helium has the highest value of electron affinity among all the

elements known.
(a) Both assertion and reason are false.
(b) Both assertion and reason are true and the reason is correct explanation for the
assertion.
(©) Both assertion and reason are true but the reason is not the correct explanation
for the assertion.

(d) Assertion is true and reason is false.

19 GTEU(HEUGTEUDMIGT GTE| GTaEL e Luppr&EEGeng Caron ?

(1) NHy (<) PH; (@) (CH,), () BH,
Which of the following is electron deficient ?
(a) NH, (b) PH, (© (CHy), (d) BH,

sepraadlen seuapl LeId Si(psssms () S Fwerm( :

(<) "RT=n (<},) m=nRT

(@) wV=nRT (/) @eupmled Fgibloene
Osmotic pressure () of a solution is given by the relation :

(@ 7RT=n (b) w=nRT

() wV=nRT (d) None of these
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Qugsdler eumbiiur@ :
(1) CaSO, (<)) CaSO,.2H,0

-
(@) CasO,-H,0 () CaSO,.H,0

Formula of Gypsum is :

(2)

(c)

n-yrueue yGrrenwal 2,60 & @

CaSO, (b) CaSO,.2H,0

1

T sens KOH o Lar Menariu(b

QarHLug!

(1) 9L L6 ADEADTE (<) yyiiden

(@) Swligen () UrLienue dsanTd
n-propyl bromide on reaction with alcoholic KOH gives :

(a) Butyl alcohol (b) Propene

(c) Butene (d) Propyl alcohol

L -gal lg & smanriLBLD SiflsuL s osLTTasaen crananfl&Ems

(1) 8 (=) 2 (&) 4 () 6

The maximum number of electr

(a)

ons that can be accommodated in L orbit is :

8 ®) 2 © 4 @ 6

erggemmadlan gLl epavdgal Hlen -

(=4) 046 g (<) 468 (@) 460 g () 46 g
The relative molecular mass of ethanol is :
(a) 046g (b) 46¢g (c) 460g (d) 46g

[ Hriys / Turn over
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8. ®eiling Biss smyb swns KMnO, eranLg :

(=1) adls sryenfl (<=4, Querr_renav Smemnf]
(@) Lrevensn sryenf (r) Guuwir sryewnf

Cold dilute alkaline KMnO, is known as :

(a)  Schiff's reagent : (b) Fenton’s reagent

(c)  Tollen’s reagent (d) Baeyér’s reagent

9. CH3—-CH2——(ITH—CHO-61916in IUPAC Quuwirr':
OH .
(=1) 1-uriened LpLiLemTe
(<) 1-wanl_gréed 19y L eved
(8) 2-eant grée 19yl L ared
(/F) 3-enamipréend Gluyl L ewed

- Write the IUPAC name of CH3 —CH,—-CH-CHO.
[

OH
(a) 1-formyl propanol
(b) 1-hydroxy butanal
(c)  2-hydroxy butanal
(d) 3-hydroxy butanal
10. @Geran LILe flans6y 2 (HeuTSEGeus)
(=1) 2008 QeuliLwIdrs (<) MRS §
(8) ampgCurse (FF) 21l QuEmssid
Ozone depletion will cause :
(a) Global warming (b) Forest fire
(c) Eutrophication (d) Bio-magnification
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SpsarLeipile ergl sflwran spy Side ?

(=) Qauiiufleneulenan QUG Fwoflena wrHlall SLILEET LormILIHILD.

(<) swHlaoude o der gm <molidheE Q-ar wHuy erliIGugID Fwhlane
wrplellenwt el @Gmpeurs QHEHELD-

(8) Q@ usssHmbgID FwHamauiaer e L_WATLD.

() efeverysfwurearg wearGamms@ LWHOID GenGanré@ olNemarsamer
Fojarelled LImd&@L.

Which of the following is incorrect statement ?

(a) Equilibrium constant varies with temperature.

(b) For a system at equilibrium, Q is always less than the ‘equilibrium constant.

(c) Equilibrium can be attained from either side of the reaction.

(d) Presence of catalyst affects both the forward reaction and reverse reaction to the
same extent.

ep@&ailaier Hlepd aanLyeer Qepantii] srewrliLbhieug) :
(21) 2 i5CaT-apL Gy Hemmed (=) Lai&EsLlg

(@) B (7) @anlygdr Leser®
Intra molecular hydrogen bonding is present in:

(a) Ortho-nitro phenol (b) Ice

(c) Water (d) Hydrogen fluoride

QUITLEGEET HAOILIDL] SeenL Quin GeweuBels :

(<) Gopps Qauliflena wHID GONHS A(PSHD

(=) <ifa Qeuliuiblena OO SHE PSSO
(@) =B5 Qauiflorw wHOID GBS SHEEB
(F) @onbs Geutiublaa OO AHE SAWPSHLD
Gases tend to behave ideally only at:

(a) Low temperature and low pressure

(b) High temperature and high pressure

(c) High temperature and low pressure

(d) Low temperature and high pressure

[ Si@pliys / Turn over
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14.

15.

e peuameupmie eTgl euflFemiy ?

(<) G (<) U (@) H (7) q
Among the following which is the path function ?

@ G (b) U (© H (d) q
CQumrpéss

(1) SwCLrurrd () SweventliLiman

(@) smiLer Qugr @Carrer® ()  LsHEAsTD
(3) CFC (i) Leps@LILTET
(4) DDT (V) @efisTsan QL
(1) (W)-(id), (2)-(), 3)-(iv), (4)-(i)
(<) (M-, (2-(v), B)-(), (4)-(ii)
(@) @)-(i), (2)-i), (3)-(v), (@)-()
(/) (1)-(), 2)-(i), @)-(ii), (4)-(iv)
Match the following :
(1) Iodoform () Fire extinguisher
(2) Carbon tetrachloride (i) Insecticide
(3) CFC (i) Antiseptic
(4) DDT (iv) Refrigerants
(@ (D), 2)-0), B)-(v), (4)-(i)
(b) (D)), (2)-(v), (3)-(). (4)-(ii)
(©)  (W)-(iid), (2)-(i), (3)-(iv), (4)-()
(A @-6). @)-), (3)-(i), (4)-(iv)
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L@d - 11/ PART - 11
@O : sremeuGuenid oum) eflammssEnsE oflaLwailEaa eflenm eTar 24-8(8
SLLmwwns eflen_wefléseb. 6x2=12
Note : Answer any six questions. Question No. 24 is compulsory.

16. &rrdgleud euamyum. <rsCsr-ureaurils SfesHe sramiu®d

SNTESUSDS SHeTL_Hl5.
Define basicity. Find the basicity of ortho-phosphoric acid.

17. gy flugder LS G alenarsamer er(PSIS.

Write the exchange reactions of Deuterium.

18. Qauliu Qussellweien Ll elflulienar eT(pSis.

Gtate Zeroth Law of Thermodynamics.

19. @HUGSSTET SHle®, LUGSSTer swhlene) eN6TSHES.

Explain homogeneous and heterogeneous equilibria.

20. BF;-6 GuigeuLd LoHmID ppeEEa GligalaLLIL (PSS
Write the shape and molecular geometry for BF;.

mded Qarprésl LT QupmeTergl ? e ?

21. &S SEILDLD FFULE &
imum catenation and why ?

Which element exhibits max

Qapenriidéar e Laflense) auqelnsmer eT(pSIS:

22. yriefle grewrlIL(hHD
ce structure shown by propene.

Write the no bond resonan
23. DDT-uller 2iembLi LHMILD LLETEAT eT(pSIS.
Give the structure and uses of DDT.

rosaid, sfurdwuerel HMWD WP (PeuFID

.. RN gL [ Sl
24. & HPD 2@LU D LGS were] QUQUDULL <ML LT &HeeT

Arluduc <4 L Te&ET, 4 I
. . g : 6Ug| e

& b s Bavauiy gamed oD , o
Inm;:rgﬁerate ‘i bif 1s, why do the completely filled and half filled configurations are

more stable than the partially filled configuration ?

[ HpLys / Turn over
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@Dy : sTemeuGenId ym1 ellammésense el wallésabd. eflan eramm 33-é@
SLLnuwns allenwaeflGsab. 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.
25. Gapwisenuisdler Heswnpy serenn Garium iqemer TS @QuIbL|S.
State Heisenberg’s Uncertainty Principle.

26. umedli eperw LRSS Swall <L rsHnsTar soaTUT Iymear SHed.
Derive ionic radius using Pauling’s method.

27. Uy L Fmemer, 2,TEGCHT manL TEmeTTs ereleurnl LomHmem ?
How do you convert para hydrogen into ortho hydrogen ?

28. Gummenteno &, Cummeirenn srym LaTLsamer GeumLibhSg)s.
Distinguish between extensive and intensive property.

29. 0.5 Guréd Qugsererag 1.5 Gorosda bmLear sosslUL(Bdarg.
2&5mIEDled 2 atar GlggenTed HMID Bifler CorevGenardams GeTed (N,
Calculate the mole fraction of methanol and water when 0.5 mole of methanol is mixed
with 1.5 moles of water.

30. QandsolUTsed erenpmd ererer ?  CH, epedaadle) sramiu@b GarsaLliL

s GGG S.
What is hybridisation ? Mention the type of hybridization found in CH,.

31. FHMSET oL 60 & & D D sramliLu@b UoUGUrésd cmauiea aumssmar

NleT& G
Explain the different types of polymerisation in ethyne.

32. L&MW Gl ellenere GTEMITE GTaman ? LIGenLD@Glg & eSenerellenat o aRTLT&E LD

amysseflar Quuflaan GOILEES.

What is green house effect ? Name the gases that cause green house effect.

33. 2-Swleafléd sramrlu®D QUL THHILIBIGENET 6T(LHSIE.
Explain geometrical isomerism in 2-butene.
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GPIY : Simenssl elenmssepaEn ofenl wellésayb. 5x5=25
Note : Answer all the questions.

34. () 76.6% &miiLen, 6.38% epanl e, B ssaish 2pGadl@eanLD QamraRTL
Geiroglem erafiu e98ls eumiitiumQ, ppasany eumiumQ <, HWeUHEDE
srams. Cemngdler <pel oiLTH8 47.
NNV ]
(<5) () 3d PO 4f - @G Lrdsald srariu@n <y wHmb GCarer
samlsailer eramaflEamaudanens sensd(Hs.
(i) Be N g&smp Lmedlus erevél Frem HriL S GupmieTens) erem ?

(@) Calculate the empirical and molecular formula of a compounfi cc')ntaining 76.6%
carbon, 6.38% of hydrogen and rest oxygen. Its vapour density is 47.

OR

(b) (i) Calculate the total number of angular nodes and radial nodes present in
3d and 4f orbitals.

(i) Explain why the electron affinity of Be and N is almost zero.

35. (=) () evanLymenar pliaissSe surfl&@n pepuilenar eT(psis.
({) euUTYESEET SlTeILOTES Lieu@b LeGeaum wpevmsefer QLwiflene
GuEICES
<9 60 60 Gl
FOEUSSIET (19ef5dli gneT) eraueumm gwriliumi ?
(i) Qusatfugdan Lwensame T(RSIS.
i) <apssSSHmer srref (Z)-Harar saflgefwud eumilLTLigaen

6T (LRSI |
(@) (i) Write the laboratory method of preparation of hydrogen.

(i) Name the different methods of liquefaction of gases.
OR

(b) (i) How is bleaching powder prepared ?

(i) Write the uses of Magnesium. E -~
(iii) Write the mathematical formula for compressibility factor Z.

A [ Slplis / Tumn over
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36. (@) ()
(i)

(<=3) (i)

37. (=) ()

Xl - SEPTEMBER 2020
10

20 posdfludy amyellhe AH-gwb AU-5@b @eLGw 2 arar
Qsm_enls eugmag.
cilenan Geawraid (Q) - CUETIIMIG&ELD.

|
0°C Geutiuflenaouded 1 Cuome vaiésiy Brrs o pEblurg Heib
erer_Grma LOTHDES Semrédl (5. UailésL g uder Gomremi o (HEsd
GeutiL iy 6008 Jmol 1.
Wos&Emy YMIALTd Qsrarmslen smeCardsdr sGsab
BIeNSlenan eT(Lpgis.

Derive the relation between enthalpy AH and internal energy AU for an
ideal gas.

Define reaction quotient.
OR

Calculate the entropy change during the melting of one mole of ice into
water at 0°C and 1 atm pressure. Enthalpy of fusion of ice is 6008 Jmol~1.
Write any four postulates of molecular orbital theory.

GUITGITL. @DITo oLl &Tamtl ‘i’ Greimmimed remenm ?

LT&5d GlFuis.
Quersmuicdr
(A) HC=CH; +H-Br Gureas
9jLblen .
(B) CHCHO T
P’[/Hz
(©)
OH
KzCI'207
—
(D) H)50,
OH
DD G|

(=) sMwsHL QuirheneTd FMUMLWISGGD Lgsrssd wpapen eflarsss.
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(a) ('%) What is Van't Hoff factor ‘i’ ?
(i) Complete :

id
(A) HyC=CH, + H-Br Benzoyl peroxide |

(B) CH,CHO Acid dichromate>

Pt/H,
©) —
OH
K2Cr207
_>
(D) H,504
OH

OR Ry
(b) Explain the purification of a solid organic compound by crystallization method.

: i) 1976 RHSESD ET(PSIS. .
o 8) &ﬁ)gj;;ﬂ,@@m LDI'I'B%l(_Il:p[TI_'_Gh‘)I_ s HUILESSID 2 SSlHeT PGl ENETT 6T (DS
e g | |
(<) epeilepanTi Qe d GGarmar(, 2}, OSADTEOIE I.<OH aparesilenaoudled
HSDESID éaailenanuilem Aamaneufpamperwt eleTEES.
(a) () Write Birch reduction.

Write any three strategi trol environmental pollution.
ii rite ee strategies to con
(i) Y

Explain the mechanism involved in the elimination reaction of tertiary butyl
(b) chloride with alcoholic KOH.

-000-
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